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Spot Test - 03 | Answer Key  |English

Answer Key - Tamil03

  

       
  6

- 


- 
    


-   



- 


-     


- 

  


     

   6

   








 


  




     
     

   


    


  


 


     
   

 


    h  
   
 (u = mgh) 
 (KE) h  


   Y, 
     h 


   
    


    
  2

  



 


    
 


    



 



    
    


    


   4

  
  


- 

- 
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- 

-  

   
  

 3

-  (LED) 



- p – n 


-    


 


- LED



- p-n   
n  
p  


    

p   


 
    
  
   


    
   


 hv


 


     


    


    
LED



    


 


    


   


 3

-  
p–n

-    LED 


- 

- 


-     
  p -n 


- 


-   p- n     
  


    
 



    


 

 
p-n    


     
  
 
p-n 

 p - 
n - 

 
  


 


      
   


    




 

 

 

 
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Spot Test - 03 | Answer Key  |English

 

 


   

a)  

b)  

a)   3

-     
  

   


-    
    


-     
  
   


  


    


     
    




 
   
   
    


-  

   


-    



b)     3

-   
  CID 




- CAD 
  


-   


- 
 
    


-    
  


-     
   


      
  6

- CECRI 





- CECRI 


- CECRI    
   
  


-     
   

 
 
   


- CECRI 
   


  


- CECRI   
    
 
 



- CECRI    
 

    


     
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-     


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-    
    
  
 


-   
 



     
    
     


-     





- 
  
    


     
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- 
    

 



-    
    



- 
 



-   
   

    
   


- 
 
  
  


- 
   
 

    
  


-       
   
  GIS  
 
    


      
  6

-     


 

    
   
  


    


 

- 

-    


-     


- Fe2+  


- 
   


-    


-    Fe2+  


- Fe2+
Fe2+ 


-    
 
Fe3+


-     
  


     
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- 


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-  



-    


-    
   

   


-    

  
 

      
   6

 

- 
 



-    


- 
    


-  


- 

- 


     

  2

-    
 
   
  



- 



- 




  4

- 

- 


- Fe
2
O

3
 / Al

2
O

3
 






-   
   



   

 



    

    



 



   

 CO
2
  



 CO
2 
  



    

H
2
O

2 






   

   

  



H
2
O

2


   

 

    

 

   





 



   

  





 



 
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 



     

  6

-   



- 

- 



- 

   



- 



     

  6

- 



-   E.  

 sp



-     



- 

 (CC)

    

  



 (Cc)

  (cc)

-  



     



   Cc 



     

  



(cc) (Cc)

(Cc) 

    

   

F

 

    
Cc

     
  


 


     
  


 F 


15)      
  3

- 
   

   



-     

 3

 
   


    


 


     
   6

-  

   


-   
    




- 

- 

- 

- 

- 

- 

- 

- 

- 

- 

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Spot Test - 03 | Answer Key  |English

- 
    



    



   6

-  
   

  

 

- 




-     

 


- 



   
   



-  


  



-   



- 



- 




  


     



   
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-  


-    

  

  


- 
(Aneuploidy)  



-  


- 


  

     
 

   

 1

- 


  
    
  


 1

- 



-   


-    
   


-    




-   
    


 10

   

- 

-     
  


-  

-  TIDCO 
TANSIDCO

    

- 

- 

  

- 

- 

  

-    


   

-   

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- 

 

- 

- 

   

-    



-  



 

-   



   (TTO)  

  



    

 

- 

- 

 

 ETNT 

 (MSME) 

   

- 

     
  


  1



- 5G



5G    1

-    


-         


- 


- Mbps GbPsD


  1

-     


- 


-   LTE    
   


- 
GHZ


-  


      2

  

 MHZ MHZ GHZ

  

   

   


  

    4

  

-     



- 

  

-  



- AR

- 

   

- 

-      



- 

   

- AR - VR

- UHD kk

- 
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Spot Test - 03 | Answer Key  |English

   

- 

-    



    

- 

- 

-     



  

- HD

-    

UHD

 2

- 

- 

- 



- 

- 

- 

-     



- 

- 

 1

-  G 

    



-    



     


   

a)  

b)   

c)  

a)   4

-  E
0

Q
 



- E       



- 
    


- 
   


- 


 

- 

-     



b)  4

-     


    
 

   




- 

-     


- 

-   


  




-  

-   


- 


-  

c)   4

- 


 


-     
   
   

 


    

a) DRDO

b) CSIR

c) TIFR

d) ICMR

a) DRDO 3

- DRDO

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- 
   


- 
   
 


 

-  
   
  
   


-  
  


-    
   


 

- 
IGMDP

- MARS

- 

DRDO   

- ECWCS

- Pralay

- 

-    
  

-    


b) CSIR 3

- 
CSIR  
RD

- CSIR

  


- 

- 

- CSIR    
   
  


- CSIR
   
  


   



-  
   
    



 

-  

-     
 

-  


-     
 

-    


- CSIR     
    
   


-  


- 

c) ICMR 3

-  ICMR 

 


- IRFA


-  IRFA , ICMR

- ICMR

-   DHS 
  MoH-FW 


- ICMR

-      


- ICMR
CTRI

- 

- ICMR


 

-  ICMR  

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Spot Test - 03 | Answer Key  |English

- 


-  
 JENVAC

- 


- ICMR 

- RT-PCRELISA

- 

d) TIFR 3

- 



-     
  


- 
TIFR
    


- 

    
     
 
    
  
  TIFR    
   


    
  

 m Abs 3

- 


-    
  
 


- mAbs

   


-   



  9

   

   

-  RIA EHSA


- 

- 

- 

   

- 

-  Mab



- 

   

-  



- 

-   

MAbs

  

- 

- MAb



  

-  



   

a)   

b)  

a)    6

-     





-     

   



-  



-     

  

 

   



   

- 

- 

- 

-     



-     





 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 52003 13

Spot Test - 03 | Answer Key  |English

- 



b)   6

-    

   
   
   
   



-    (drone)
    

 


- 
 


- 
   



-   
   



       

    

-    



- 

-    
    


-    


-    


-    
     


- 


-  





-     
 

   


-   

 



- 

    



-  



-  

    

 

-     



 

-    

 

     



- 

 

-    



-    



- 



-     

  



-    

  

 

  

  



-      

   



-  



- 



- 





-     




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Spot Test - 03 | Answer Key  |English

- 3F 
 (Flight, Fight & Fright hormone)


-    
   
   
  


- 


-    


- 
    
   


     
   


   (IVF) 
  12

- 



-  
   


-      


-    
(Cryopreservation)  


-    



- 
    

   
     
  


- hCG (human choronic gonadotropin)  


   
 


-     


- 


- 

- 


-    
    


-   


    
   

- 


-     



-    
   
   


- 

     


-    
 


- 

- 
   


-   


- 

   



- 

     
     
 

   7

     


 


 -

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Spot Test - 03 | Answer Key  |English

- 

- 

- 

 

- (IADT

- Pad Abort TEA (PAT)

-  

 LVM3H & VM3

- 

-  (CES)

 

- CM

-  SM

 

 

- 

- 

- 

- 

  1

- 

- 

- 

   4

 C

   L   VIKAS  


 H

   LES  


-  HEM

- CESCJM

- LEM

 

- 

 

- 

 

-    
   


      
   

     
 1

-    


  3

- 
NEERI
CAR

- 

  


- 



- 

 SWAS 

 

 

 STAR

 

 

 

 SAFAL

 

   



 

   3

 

    



     
 



     

    


      



    

  


     4

- CSIR    
   



- 

- 

-  

  


- 
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-   


 1

-     

   



     
   

 3

-     


   


-    
   VI


-      
   


    
  

-    
  


- 



-    



-    



- 

 

- 

- 

-    

   



- 

-    

L

- 

- 

- 

- 



- 

-  

- 

    AQI 3

    

  

  

  

  

  

   

- 
  
    


  

       
    
    
  

 1

- 

 

 

 

 

 

 

 

 

    


 


 

 

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 

 



    

  


  


 



 

  

 

 

    


 

 

 

 

  


 

 

 

  

 

 

 

    





 

    


 

 

 

   



 

   


 

 



 

     


    


 


     
   


   


    

a)  

b)   

c)   

a)  5

-      

 


- 

  






-    

    







-    
   





b)      5

- 



  


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Spot Test - 03 | Answer Key  |English

-    



- 

  

 



- 300K


 

- 

c)   5

- 



-  





- 
   



-     


  





-  



-    



  



- 



-  



 

   



-  
 

   
  


     
   

  3

-    (2n)
   

  
  


  


-   


   
 

-   


-   
  


-     
   
  


    
   1

-    
  
   
 

     2

-    

     

    




       2

-    
   
  
  

    

 



   
  1

-     
 



 3
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Spot Test - 03 | Answer Key  |English

    XXY

- X
   


- 
44AA+XXY 


-   

 
 
  


    XO 3

- X

    
   
X

-   
  
   
   
 


     


  15

-    
  


- 
   
  



-     
  


-     
 

 

- 
   
    



-    
  


-     


- 
   


   

- 
   
 


-    
   


-    
    
  
   
  


-   
 


- 


- DPT


   

-   
  
   
B

   

- 
 
    



-     

     
    


-    
    


-    

 


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Spot Test - 03 | Answer Key  |English

- BCG     




    

a)    (MFC)

b) 

c)  

a)    5

-    

  

   



- 





-  



-    

   

  



- 

  

   



- 

    



b)  5

-     

  





- 

    



-   



  





   

-  



-     



-     



-    



-    
 

-    


  




 PET   


 PET 

PET MHET 


    


  
 


 
  
 
  


    
   
   


   


 

c)   5

-    
 


-     


- 


- 
    


- 
  


- 

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-  
   
 


- 



- 


-  
B(HbsAg) 


    Hb


    


- B 


- 
  B 
    


     
   

   2

- 
     


-  
     




- 
   


- 
   
   
     


- 
 13

  
   
 
  
    
  


  
 (NBWL)  



 

    


     
  

     
   


     

  


  

    
 

  

  

  

  

  

  

-    



-    


    

- 
  


- 

      

   

   

   

   

    
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Spot Test - 03 | Answer Key  |English

-   


 

 

 

 

 

- 
    


-      
   
   


-     


- 



- 


-  
    
   
    


 

-    
   
   


-   
   


-    
 
  
   


-    


    


-  


- 

  


- 

-    

   



-   





- 



    

-   

    





- 

    



-   



- 



-    

 

 



-    

  



 

 

 

-     



-    

   

   

   



     

- 

     



-  



- 

  


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Spot Test - 03 | Answer Key  |English

   

- 


- 

-      
   
 

- 
 


-     

    


-  
  
    


-     
  
  



     
   


 1

-     



  
 14

     

-    


- 



-   


- 
   


-  



- 

- 


-    


    

- 

- 



-  x    


- 


- 


- 

- 

      

-     
INCOIS

- 



-     

TWMS

-    
     


    

- 

-     


    

      

  

  

  

  

  

  

  

  
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Spot Test - 03 | Answer Key  |English



-      

  



-     



- 



-   



-    



    

-  





-  FSM



-    



- 



- 



      

   

     1

-    





  2

- 



-     





- 

    



 1



- 

- 

- 

- 

   11

  CRISPR

-   

 

- 





-  

- 

- 

- 

    

-    





- 

- 

 

- 

- 

  

- 

- 

- 

-    



 

- HPV

- 

- 

   

-     



-    



    



    



    

    




